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Biag [AR] 311 349 660 | 91.7%| 652 684  66.9 35.3
FHEFAM 208 | 174 382 53.1%| 665| 659 662 35.8
FRBE &R F il 55 95, 150 | 20.8%| 633 | 69.1 670 324
KIEEIFGLER B i 9 38 47 65%| 819 852 846 63.6
F-HEFM 4 4 8| 1.1%| 620, 645| 633 8.4
% B8 & = fify 0 1 1] 01%| - 86.0| 86.0 129.0
sqoliiok=¢i 20 24 44| 61%| 535, 678 613 29.3
Z D th D F it 5 1 6| 08%| 744 580 717 18.5
Z DD IRET 10 12 22| 31%| 546 | 476 508 7.8

B g [5h£] 57| 7.9%| 545 607 566 -

F -5 F i 33 17 50| 69%| 530| 622 56.1 -

Z Dt DR ET 2 1 3| 04%| 530 650 570 -

Z Dt D F it 2 2 4| 06%| 805 455| 630 -
MNE [ARBR] BEERIM 0 3 3| 04%| - 893 893 17.3
it 372 | 348 720 100%| 64.1| 681| 662 325
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HAEF i 3 ﬁﬂ & £ :Fi,ﬁgﬁﬁﬁn B EBT%Q%&
EHEEN (WEET) 64 80 144 69.3 70.0 69.7 454
FEHEME SRRl (RS T) 67 30 97 68.9 73.2 70.3 28.0
ZHHEHE S S AT 29 12 41 69.2 68.3 69.0 31.2
HME AT B Al 6 13 19 77.0 77.6 77.4 34.9
HE R AR 7 R 8T 1 0 1 62.0 - 62.0 18.0
BIZEFH(PEE) 2 13 15 68.5 64.8 65.3 65.0
FHHE B E 5 2 7 71.4 60.5 68.3 64.0
RIEfE F it (BHF) 2 9 11 15.0 16.0 15.8 16.1
RNAREE T F1iT 23 10 33 52.9 457 50.7 16.6
T D th D HE F 1l 9 5 14 56.1 54.6 55.6 23.2
&t 208 174 382 66.5 65.9 66.2 35.8
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S 5 5 i;ﬁz : . $tﬁ$;ﬁ#¢un : E[‘q:%tg%&
A T EAEE 27 64 91 74.1 77.7 76.7 37.1
F ARF i 10 13 23 51.0 59.2 55.6 11.7
BT R 6 8 14 385 29.1 33.1 249
&Y T 5 4 9 69.6 64.5 67.3 51.4
RETHHT 5 3 8 63.0 55.3 60.1 10.9
FITFM 1 1 2 23.0 81.0 52.0 325
& D th O R EA & 1 4 5 9 72.8 49.4 59.8 37.1
&t 58 98 156 64.1 68.7 67.0 31.7
KRBEGHBHEM [ T
FHEEM 7 29 36 80.0 86.3 85.1 64.9
AIEEE 2 8 10 88.5 84.1 85.0 63.4
RETHHT 0 1 1 - 62.0 62.0 19.0
&t 9 38 47 81.9 85.2 84.6 63.6
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£-HEH AR R s s S M
F IR E R 1 1 2 71.0 79.0 75.0 19.5
fi - sE i 2 1 3 46.0 70.0 54.0 4.7
T DD F - F5F i 2 2 4 60.5 545 575 43
&t 5 4 9 56.8 64.5 60.2 7.8
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R gHvIBA 13 2 15 56.5 50.0 55.6 -

FIREMABFM 9 14 23 71.4 64.9 67.4 -

IRETHlT 4 1 5 35.0 49.0 37.8 -

FITFM 7 0 7 33.0 - 33.0 -

&t 33 17 50 53.0 62.2 56.1 -
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ZOMORFFR AR o . 2 T = | 5 lzeow
EROERFM 10 15 25 49.8 69.0 61.3 16.5
TEROBFFFM 10 9 19 57.1 65.7 61.2 46.1
&t 20 24 44 535 67.8 61.3 29.3




